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ROl NO. voeiirensiensssssassns

(04/17-1)

4842

B. Com. EXAMINATION
(For Batch 2013 & Onwards)

(Fourth Semester)
ADVANCED STATISTICS
BC-402

Fime : Three Hours Maximum Marks - 80

Note : Attempt Five questions in all. Q. No. 1 is
compulsory.
. Write short notes on the following :
(i)  Mutually Exclusive Events
(i1) Addition Theorem of Probability
(111) Non-Sampling Erors
(1v}) Acceptance Sampling

(v]  Two-tailed test
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(vi) Interval Estimation
(vil) Parameter

(viii) R-Chart

2. Explain various methods of Sampling. Also

discuss their relative merits and dements.

3. What is Statistical Hypothesis ? Discuss the
procedure of testing a Statistical Hypothesis.

4. What s an Estimator 7 Describe the important

properties of a-good esimator. 4,12

5. A sample of 260 people with a particular
discase was selected. Out of these, 100 were
given a drug and the others were not given
any drug. The results were as follows :

Number of People
Drug No Drug Total

Cured 65 55 120
Not Cured 35 45 80
Toial 100 . 100 200

Test whether the drug is effective or not. 16
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6. A sct of examination marks is approximately

normally distributed with a mean of 75 and
standard deviation of 5. If the top 5% of the
students get grade A and the bottom 25% get
graae F, what marks arc the lowest A and
what matks are the highest F. 16

(a) Explain the properties of Binorual!
Distribution.

(b) It is given that 3% of electric bulbs
manufactured by a company are defective.
Using the Poisson approximation, find
the probability that a sample of 100 bulbs
will contain (i) no defective (i1) two or
more defective. (Given e = 0.04979).

8,8

(a) State and prove Bayes' theorem of

probability.

(b) Three groups of workers contain 3 men
and I woman, 2 men and 2 women,

1 man and 3 women respectively. One

2-17T11)B-4842(TR) 3 P.T.0.
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worker 18 selected from cach group. What
is the probability that the sclected group
consists of on¢ man and two women ?

8.8

9. Two salesman X and Y arc working in a
district. From a sample survey conducted by
the hecad office, the following results were
obiained. State whether there 1s any signiiicant
differcnce in the avcrage sales between the

two salesmen @ https://'www.cdluonline.com

A B
No. of Sales 20 18
Average 170 205
Standard Deviation 20 25

(Hindi Version)

e . wE O W B IW AWT 1 I F
afmd € | Ol yed @ 3% 99 € |

1. frefafes w sfaa feofar fafar
(i) wrEEfer € 78 v
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(i) 9hasa &1 9g WHI
(i) A<-viFeea gfet

(iv) wfa ag@

(v) fE-g=8 utiem

(vi) F<UA TR

(vii) e
(viii) #-=7 | 8x2=16
2. wlamm =1 fafv= fafuyai = avila sifse
T MOT W FEUl R ave wifew
16
3. Gifessl sumes #41 ¢ 7 TP GEe &
ygfd &1 FuiF Fifag | 4,12
4., UH ITHGH BH G T ? UF T SFAR
% o0 #w A wife
5. 200 =afagal &1 Us favig YR & SO &
FgW faw T 1 & 9 100 H UH @1
T den 34 W fRAr WHR H @ A8 &
T oM W YRR oA
(2-17/12)B-4842(TR) 5 P.T.O.
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Hfeaal &1 9=
T G fom e e
aret

7 T 65 55 120

wdl 77U 3 a5 %0

e 100 100 200
e w6 # o W owE @A
T 16

Wl & A% W U 9YTHY @I |

] 75 F WA G4i 5 % Arw. [a9er
% Ty foafm g ™ § 1 9l od = s%
i 3 A Uz W F AW TH W 25%
faafipdl 4 F 42 W< i, @ A Ug #
Trm @l F Uz & siaEan HEw o ¥ 2

(21) fgwera faam &1 favigad =au |

(d) 4z g T fE v e e & 3%
TU Wigskar J@ Hifse f& (1) 100 s
3 Uw TR W T g3 wWE W,
(i) & = sfuw =wea @ua 9 7 (A
2 e = 0.04979) 8,8

B-4842(TR) 6

https://www.cdluonline.com

wodduuonpa mmm/csdny



8.

https://www.cdluonline.com

() a9 =l wiasa w93 & 9vid #X f8g

(€)

Hifae |

FATW & d S99 FEU: 3 YEY
| wfgen, 2 yew den 2 Afeemi, 1 T
gl 3 WeaE of | TS R 8 @
s fma o 1 o owiewa € &
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i fog ™ §gz § 1 [T a2

wfeemd & 2

8.8

9. Wk fod ¥ X w1 Y fawm ¥ w@ ¥
TF GEAEE g Hawu % 999 9 FAetafaa

uftoms A B0 1 FAET fEoEm e fawmasd

% ey Ea fewm 0 FE WdE e
g ?
A B
gHd ® e 20 18
AT 170 205
s fageH 20 25
(2-17/13)B-4842(TR) 7 3,400
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